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Summer Holiday Homework
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CLASS -XI
MEDICAL
Sun shines on your skin and mine

until it sets way after nine.
Memories made with a cold drink in hand,

Moments to cherish with feet in the sand.
Everyone laughing, smiles on every face.
Remember the moments, those were the days.
Turn up the music, sing it out loud.
Indigo skies, no sign of a cloud.
Mutter the words that no one will know.
Everlasting memories; where does time go?
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HOLIDAY HOMEWORK (2024-25)
CLASS -XIlI

“Genius is one percent inspiration and ninety-nine percent perspiration. As a result,
a genius is often a talented person who has simply done all of his/her work on time”’.

Dear parent

As we all know that every year we have a summer break in our school, this is a time when every
kid plans a holiday with their parents to visit their grandparents or a new city or country. Even
though there are many good things about the holidays, it always comes with holiday homework. It
Is the task that is assigned to students to be completed during the holiday. This is intended to
improve the skills of students and enhance their capabilities. Keeping this in mind, holiday home work
has been prepared so that along with the fun, continuity with academics is also maintained.

Note: Kindly go through the instructions carefully and do the needful accordingly.

a) Entire Homework is to be done in the concerned subject notebook.

b) Entire holiday homework (Subject wise) would be evaluated for Term-I Internal
Assessment out of 10 marks

c) Well labelled Holiday homework to be submitted to the concerned
Subject Teacher on Wednesday July 05, 2024.

Wishing you all a very Happy Summer Break!!
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A) Read the chapters: -
1) The Portrait of a Lady
2)We're not afraid to die if we can all be together
3) Discovery Tut: The saga continues
Identify the themes of all the chapters and write it in your own words (Word Limit: 100
words)

B) Read the Chapter, and find out the meanings of difficult words: -
1) The Adventure
2) Silk Road
Identify the themes of all the chapters and write it in your own words (Word Limit: 100
words)
Read the Poems
3) A Photograph
4) The laburnum trees
5) The Voice of the Rain
6) Childhood
7) Father to son
Identify the themes of all the chapters and write it in your own words (Word Limit: 100
words)

C) Write a speech on: -
1) Social Media: Boon Or Curse

2) Importance Of Reading
3) The Impact of Technology on Society

Chemistry

1. Complete your investigatory project (hand written) which you have been already allotted by
your subject teacher.

2. Make a list of all the formulae related to Chapter 1 (some basic concept of chemistry) Chapter
2 (Atomic structures) Chapter 3 (periodic classification) in your notebook.

3. Solve all the problems from NCERT Exampler book (Chapter 1,2,3,)
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BIOLOGY EleL'l’cIETeJ'Ie

Task -1 (Test your writing skills) Research on The Global Impact of Excretory
Diseases. Based on your research from multiple resources, you have to write a
Report paper (500 words max.) on Excretory diseases and present it in the
classroom. This is to raise awareness among the people about to protect their
kidneys by being physically Active and having Healthy diet.

Task- 2 ‘kidney diseases impose an immense worldwide health burden”. ewrite
down the five most common kidney diseases which are the causes of severe illness
and death worldwide. Collect and paste pictures. Format is given below: Note:
Source of Information for the Assignment: It can be a Newspaper clipping, an
article from a magazine or an Internet. You have to write the reference of source
of information you will use for your assignment.

Note:- prepare this work in a file ( Blank and line paper file).

Task- 3 « Write down process of counter current mechanism in urine formation.
Write mechanism of muscle contraction. * Draw Human skeleton system on A4
size sheet for submission.

Task- 4 prepare 5 MCQ questions everyday (from the syllabus of April and May
and mention date with questions in a separate notebook of Biology Homework)

Task- 5 Prepare a working model of Biology as per your creativity & prepare
charts on cardiac cycle, human heart, sliding filament theory. (As per your choice)

MUSIC

1. Write and learn definitions of Swar, Saptak, VVarn, Alankar, Graam, & Aalap..
2. Write andlearn eakgun and dugan of Rupak tall, Jhaptall, & Dhamar tall..
3. Write and learn the biography of Fayaz khan..
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AIPMT 2006
A car runs at a constant speed on a circular
track of radius 100 m, taking 62.8 seconds for
every circular lap. The average velocity and
average speed for each circular lap
respectively is :-
(1)0,0 (20,10 m/s
(3) 10 m/s, 10 m/s (4)10m/s, 0
A particle moves along a straight line OX. At a
time t (in seconds]) the distance x (in metres) of
the particle from O is given by x = 40 + 12t - t2.
How long would the particle travel before
coming to rest ?
(1)24m (2)40m (3)56m (4)16m
Two bodies, A (of mass 1 kg) and B (of mass 3
kg), are dropped from heights of 16 m and 25
m respectively. The ratio of the time taken by
them to reach the ground is :-

5 12 5 4
1 (2) = (3) 5 (4) i
For angles of projection of a projectile
(45° - 0) and (45° + 0), the horizontal
ranges described by the projectile are in the
ratio of :-

(1)1:1 (2)2:3 (3)1:2 4)2:1
AIPMT 2007

A car moves from X to Y with a uniform speed

v, and returns to X with a uniform speed va.

The average speed for this round trip is :-

(1)

Vu t Vd (2) ZVqu

2 vV, +V,
(3) \IVLIVLI [4) VaVy
Vd +Vu

A particle moving along x-axis has acceleration

.. A .
f,attimet, givenby f=1f, (1 - %J where f, and
AN P

T are constants. The particle at t = 0 has zero
velocity. At the instant when f= 0, the particle's
velocity is :-

(1]%&,T (2) T (3)%f0T2 (4) £, T2

Exercise - II (Previous Year Questions)

7.

AIPMT/NEET

The position x of a particle with respect to
time t along x-axis is given by x= 9t2-t3 where
X is in metres and t in seconds. What will be
the position of this particle when it achieves
maximum speed along the + x direction ?

(1)24m (2)32m (3)54m (4)81m
The distance travelled by a particle starting
from rest and moving with an acceleration

4
gm/sz, in the third second is :-

(1) 1—30m (2) ?m (3) 6m (4) 4m

AIPMT 2008

A particle moves in a straightline with a constant
acceleration. It changes its velocity from 10 m/s
to 20 m/s while passing through a distance of
135 m in tseconds. The value of tis :-

(1)12 (2) 9 (3) 10 (4) 1.8

A particle shows distance-time curve as given
in this figure. The maximum instantaneous
velocity of the particle is around the point :-

D

Distance

A_”B

t Time

(1)D (2)A (3)B (4)C
A particle of mass m is projected with velocity
v making an angle of 45° with the horizontal.
When the particle lands on the ground level,
the magnitude of the change in its momentum
will be:-
(1) mvv2 (2)zero (3)2mv (4)mv/.2

AIPMT 2009
A body starting from rest is moving under a
constant acceleration up to 20 sec. If it moves
S1 distance in first 10 sec., and S; distance in
next 10 sec. then Sz will be equal to :
(1) Sy (2) 25 (3) 354 (4) 454
A bus is moving with a speed of 10 m/s on a
straight road. A scooterist wishes to overtake
the bus in 100 s. If the bus is at a distance of 1
km from the scooterist, with what speed
should the scooterist chase the bus ?
(1) 10 m/s (2)20m/s
(3) 40 m/s (4) 25 m/s
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AIPMT (Pre) 2010

14. A particle moves a distance x in time t

according to equation x = (t + 5)-1 The
acceleration of particle is proportional to :-
(1) (velocity)2/3 (2) (velocity)3/2

(3) (distance)? (4) (distance)-2

A ball is dropped from a high rise platform at
t = 0 starting from rest. After 6 seconds
another ball is thrown downwards from the
same platform with a speed v. The two balls
meet at t = 18s.What is the value of v ?

(take g = 10 m/s?)

(1) 60 m/s (2) 75m/s
(3)55m/s (4) 40m/s

A particle has initial velocity (3i+4}) and

has acceleration (0.4i+0.3}). Its speed after

10s is :-
(1) 10 units (2) 7 units
(3) 742 units (4) 8.5 units

AIPMT (Mains) 2010
The speed of a projectile at its maximum
height is half of its initial speed. The angle of
projection is :-
(1) 15° (2) 30° (3) 45° (4) 60°

ATPMT (Pre) 2011

A boy standing at the top of a tower of 20 m
height drops a stone. Assuming g = 10 m/s?,
the velocity with which it hits the ground is :-
(1) 10.0 m/s (2)20.0m/s
(3)40.0 m/s (4) 5.0m/s
A body is moving with velocity 30 m/s
towards east. After 10 seconds its velocity
becomes 40 m/s towards north. The average
acceleration of the body is :-
(1) 1 m/s? (2) 7 m/s?
(3) V7 m/s? (4) 5 m/s*
A missile is fired for maximum range with an
initial velocity of 20 m/s. If g = 10 m/s?, the
range of the missile is :-
(1)40m (2)50m
(3)60m (4)20 m

21.

AIPMT (Mains) 2011
A particle covers half of its total distance with
speed v; and the rest half distance with speed
vz Its average speed during the complete
journey is:-

(1)

u (2] ViV,
2 vV, +V,

2.2
vV
(3) ZVe. (4) 7

v, +v, ViV,
A projectile is fired at an angle of 45° with the
horizontal. Elevation angle of the projectile at
its highest point as seen from the point of

projection, is:
(1) 45° (2) 60°

(3) tan-lé (4) tan-? [\/2 J

AIPMT (Pre) 2012
The motion of a particle along a straight line
is described by equation x =8 + 12t - t3 where
X is in metres and t in seconds. The
retardation of the particle when its velocity
becomes zero is :-
(1) 6 m/s? (2) 12 m/s?
(3) 24 m/s? (4) zero
The horizontal range and the maximum
height of a projectile are equal. The angle of
projection of the projectile is :-
(1) 6 =tan"1(2) (2)6=45°

e

(3) 0 =tan! L%] (4) 8 =tan"1(4)

A particle has initial velocity (2; - 3]) and

acceleration (0.3f | 0.2}). The magnitude of

velocity after 10 seconds will be :

(1) 5 units (2) 9 units

(3) 942 units (4) 542 units
AIPMT (Mains) 2012

A stone is dropped from a height h. It hits the

ground with a certain momentum P. If the

same stone is dropped from a height 100%

more than the previous height, the

momentum when it hits the ground will

change by :-

(1)200% (2)100% (3)68% (4)41%
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NEET-UG 2013
A stone falls freely under gravity. It covers
distances hy, hz and hs in the first 5 seconds,
the next 5 seconds and the next 5 seconds
respectively. The relation between hy, hy and
hg is :-
(1)hi=ha=hs
(2) h1 = th = 3]’13

_ hz _ h:%

(3)h. = 3 5
(4) hz =3h;and h; = 3h;
The velocity of a projectile at the initial point
A (21+3)
point B is :-

Y

m/s. Its velocity (in m/s) at

B X

(1) 2§+3j (2) —2i-3j
(3) —2i+3j (4) 2i-3j

AIPMT 2014
A projectile is fired from the surface of the
earth with a velocity of 5 m/s and angle 0 with
the horizontal. Another projectile fired from
another planet with a velocity of 3 m/s at the
same angle follows a trajectory which is
identical with the trajectory of the projectile
fired from the earth. The wvalue of the
acceleration due to gravity on the planetis (in
m/s?) is: (given g = 9.8 m/s?)
(1) 3.5 (2)5.9
(3)16.3 (4) 110.8
A particle is moving such that its position
coordinates (x, y) are
(2m, 3m) attimet=0
(6m, 7m) attime t =2 s and
(13m, 14m) at time t = 5s.

Average velocity vector {\;’a‘,] fromt=0tot=5
sis

(1) %(13i+14j) (2) g(hj)

3) 2(i+]) @ (i+)

31.

AIPMT 2015
A particle of unit mass undergoes one-
dimensional motion such that its velocity
varies according to
v(x) = Px-2n
where B and n are constants and x is the
position of the particle. The acceleration of
the particle as a function of x, is given by :
(1) -2np2x-4n-1 (2) -2B2x-2n+1
(3) -2npze-4n+l (4) -2n[3zx-2n-1
A ship Ai1s moving Westwards with a speed of
10 km/h and a ship B 100 km South of A, is
moving Northwards with a speed of 10 km/h.
The time after which the distance between
them becomes shortest, is :-
(1)5h (2)5.2h
(3) 10J2h (4)0h
Re-AIPMT 2015
Two particles A and B, move with constant
velocities v, and v,. At the initial moment

I

their position vectors are § and f

respectively. The condition for particle A and
B for their collision is:-

D) &-£=v,-v,  (2) A7k _Ya=Vy
'1;_]:2' I‘}z_";

1
(3) -9, =%, -9

NEET-12016
If the velocity of a particle is v = At + Bt2, where
A and B are constants, then the distance
travelled by it between 1s and 2s is :-

(1) %A+4B (2) 3A+7B

3 7 A B

(3) 2A+3B (4) 2+3
NEET-I1 2016

Two cars P and Q start from a point at the
same time in a straight line and their
positions are represented by x,(t) = at + bt?
and xq (t) = ft - t2. At what time do the cars
have the same velocity?
1) a+f (2) f-a

2(1+h) 2(1+h)

a-f a+f

)T (4) 206-1)
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NEET(UG) 2017
Preeti reached the metro station and found
that the escalator was not working. She
walked up the stationary escalator in time t;.
On other days, if she remains stationary on
the moving escalator, then the escalator takes
her up in time t.. The time taken by her to
walk up on the moving escalator will be
(1) bt (2) bt

t,—t; t,+t,

(3)ti-t: (1) =
The x and y coordinates of the particle at any
time are x = 5t - 2t2 and y = 10t respectively,
where x and y are in meters and t in seconds.
The acceleration of the particle att = 2s is :-
(1) 5m/s? (2) -4 m/s?
(3)-8m/s? (40

NEET(UG) 2019
The speed of a swimmer in still water is 20 m/s.
The speed of river water is 10 m/s and is
flowing due east. If he is standing on the south
bank and wishes to cross the river along the
shortest path, the angle at which he should
make his strokes w.r.t. north is given by :
(1) 30° west (2) 0°
(3) 60° west (4) 45° west
When an object is shot from the bottom of a
long smooth inclined plane kept at an angle
60° with horizontal, it can travel a distance x;
along the plane. But when the inclination is
decreased to 30° and the same object the shot
with the same velocity, it can travel x:
distance. Then x; : xz will be
(1) 1:V2 (2) V2:1
[3) ']_:\/§ (4) 1:243

NEET(UG) 2019 (Odisha)
A person standing on the floor of an elevator
drops a coin. The coin reaches the floor in
time t; if the elevator is at rest and in time t,
if the elevator is moving uniformly. Then :-
(1) t1 <tz or ty > tz depending upon whether
the lift is going up or down

2)t<ty
(Bltu>t
4 ti=t
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Two bullets are fired horizontally and
simultaneously towards each other from roof
tops of two buildings 100 m apartand of same
height of 200m with the same velocity of
25 m/s. When and where will the two bullets
collide. (g =10 m/s?)

(1) after 2s ata height 180 m

(2) after 2s ata height of 20 m

(3) after 4s ata height of 120 m

(4) they will not collide

A person travelling in a straight line moves
with a constant velocity vy for certain
distance 'x' and with a constant velocity v; for
next equal distance. The average velocity v is
given by the relation

-1, 1 221, 1

v, Vv v Vv, Vv

LTV, 4) V=/V,V,

2

NEET(UG) 2020
A ball is thrown vertically downward with a
velocity of 20 m/s from the top of a tower. [t hits
the ground after some time with a velocity of
80 m/s. The height of the tower is :
(g=10m/s?)
(1) 300 m (2)360 m
(3)340m (4) 320 m

NEET(UG) 2020 (Covid-19)
A person sitting in the ground floor of a
building notices through the window, of
height 1.5 m, a ball dropped from the roof of
the building crosses the window in 0.1 s.
What is the velocity of the ball when it is at
the topmost point of the window ?
(g=10m/s?)
(1) 15.5m/s (2) 145 m/s
(3)4.5m/s (4)20m/s
NEET(UG) 2021

A small block slides down on a smooth
inclined plane, starting from rest at time t = 0.
Let S, be the distance travelled by the block in
the interval t = n - 1 to t = n. Then, the ratio

2 1 2

v

v
(3) 2=

2n-1 2n+1 2n
2 3 4
(2) 2n+1 ( ]211—1 () 2n-1
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46. A car starts from rest and accelerates at

5 m/s2 At t = 4 s, a ball is dropped out of a
window by a person sitting in the car. What is
the velocity and acceleration of the ball at
t=6s7?(Take g=10m/s?)

(1) 20 m/s, 5 m/s? (2)20m/s, 0

(3) 2042 m/s,0 (4) 2042 m/s,10m/s2
A particle moving in a circle of radius R with
a uniform speed takes a time T to complete
one revolution.

If this particle were projected with the same
speed at an angle '0’ to the horizontal, the
maximum height attained by it equals 4R. The

angle of projection, 6, is then given by :

2 12 2 2
(1) O=cos ](i} (2}6:(:051{]11;{}
R gT'

T

/ “ T2 .]-2
Z} (4) 6=sin '(Z%T ]
T R

AN
NEET(UG) 2022

The displacement-time graphs of two moving
particles make angles of 30° and 45° with the
x-axis as shown in the figure. The ratio of
their respective velocity is :

Tll
=

30° 45 R
time —»

(M1:1  (2)1:2 (3)1:43 (4)3:1

o displacemen

The ratio of the distances travelled by a freely

falling body in the 1st, 2nd, 3rd and 4th second :

(1)1:4:9:16 (2)1:3:5:7

(3)1:1:1:1 (4)1:2:3:4

A ball is projected with a velocity, 10 ms-4, at an

angle of 60° with the vertical direction. Its speed

at the highest point of its trajectory will be:

(1) 5¢/3ms ' (2) 5 ms-1

(3) 10 ms-t (4) Zero
RE-NEET(UG) 2022

A cricket ball is thrown by a player at a speed

of 20 m/s in a direction 30° above the

horizontal. The maximum height attained by

the ball during its motion is : (g = 10 m/s2)

(1)5m (2)10m (3)20m (4)25m

he position-time (x - t) graph for positive

acceleration is :

(1)
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